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1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK
THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING
PAGES OR ITEMS, ETC. IF 80, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

2. ENCODE CLEARLY THE TEST BOOKLET SERIES A, B, C OR D AS THE CASE MAY BE IN THE
APPROPRIATE PLACE IN THE ANSWER SHEET.

3. You have to enter your Roll Number on the
Test Booklet in the Box provided alengside.

DO NOT write anything else on the Test Booklet.

4. This Test Booklet contains 120 items (questions). Each item is printed both in Hindi and English.
Each item comprises four responses {answers). You will select the response which you want to mark on
the Answer Sheet. In case you feel that there is more than one correct response, mark the response
which you consider the best. In any case, choose ONLY ONE response for each item.

5. You have to mark all your responses ONLY on the separnte Answer Sheet provided. See directions in
the Answer Sheet.

6. All items carry equal marks,

7.  Before you proceed to mark in the Answer Sheet the response to verious items in the Test Booklet, you
have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate.

8. After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheet, You are permitted to take
away with you the Test Booklet.

8. Sheets for rough work are appended in the Test Booklet at the end.

10. Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION FAPERS.

(i} There are four alternatives for the answer to every question. For each question for which a wrong
answer has been given by the candidate, one-third (0-33) of the marks assigned to that quutinn
will be deducted as penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of
the given answers happens to be correct and there will be same penalty as above to that question.

{iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for
that question.
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Directions : For the three items which follow : Directions : For the three items which follow :

Three compounds A, B and C have the formula
CgH,; All three compounds rapidly
decolourise Br, in CCl,, all three are soluble in
cold cone. H,S0, Compound A gives a
precipitate when treated with AgNO, in aq.
NH,, but compounds B and C do not.
Compounds A and B both yield n-hexane when
they are treated with excess H, in the
presence of Pt catalyst. Under these conditions
C absorbs only one molar equivalent of H, and
gives a product with the formula C.H,,. When
A is oxidized with basic KMnO, and the
resulting solution acidified, the only organic
product that ecan be  isolated is
CHHI.CHE}ECGEH. Similar oxidation of B gives

Both methane and ethane can be used as fuels,
The values of mH? for CH,(g), C,H.(g),
CO, (g) and H,0(!) are respectively —74:84,
— 84-68, — 393:5 and — 286 kJ mol™,

What is the enthalpy of combustion of
methane ?

(a) — 890-66 kJ mol™!

(b) - 65533 kJ mol™

(¢) - 445:33 kJ mol™!

(d) - 22266 kJ mol™!

How much heat is evolved per gram of

only CH,CH,CO,H and C gives only ethane ?

HO,C(CH,),CO,H. -
What is the structure of compound (A) ? (b} 390 kJ
(a) CH4CH,C = CCH,CH; (¢) 520 kJ
(b) CH,C = CCH,CH,CH,4 (d) 650 kJ

(¢) CH,CH,CH,CH,C = CH
(d) HC = CCH,CH(CHy),

How many times (approximately) is methane
more efficient than ethane ?

What is the structure of compound (B) ? (a) 093
(a) CH4CH,CH;C = CCHy (b} 107
(b} CH,CH,C = CCH,CH, (e} 1-67
(e) (CH;),CHC = CCH, (d) 201

(d) (CH,),CH-CH,C = CH

What is the structure of compound (C) ?

(a) O

CHy

» O

(¢) CH,CH,C = CCH,CH,
(d) HC = CCH,CH,CH,CH,

For a given solution of Schrodinger wave
equation, the value of y is expressed as
w = fir).fix),fly) What does this wave
function represent ?

{a) forbital function anly

{b) d-orbital function only

(c) p-orbital funetion only

{d) p and d-orbitals function

N-DTQ-K-EJG [2-A)
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e : s 7 vt & A -

= difiet A, B3R C & s CH, ¥ | o &
difis CCl, ¥ Br, & diwar & avfél & a9 &,
w4 A B8 W H,80, ¥ fdm & | difis A5
St NH, # AgNO, % Juaiie faan s & d vb
ey & &, uwey diffs B s C @ & ¥
difis AR BaF ndR sam s E s A Pt
IaRs @ il 4 H, & anftea & srefa
for s & | 57 oRRafmt # C S ve wm s
qeaie H, sEeifia &< € 3Rk C H,, 1 amn v
Joe am @ | 5@ A, e KMnO, ¥ sifasiiga
famm e & 3 oftomdt faem aeiea o smen
& o venra @i e o Rl sy 31 e
# @ CH,CH,),COH &2 | B @ M
sifeiraRoT &ae CH,CH,CO,H &1 & 3R C daa
HO,C(CH,),CO,H a1 & |

difirs (A) B S FE # 2

(a) CH,CH,C = CCH,CH,
(b) CH4C = CCH,CH,CH,
(¢) CH,CH,CH,CH,C = CH
(d) HC = CCH,CH(CH,),
difirs (B) & wwen war & ?

(a) CH,CH,CH,C = CCH,
(b) CH,CH,C = CCH,CH,
() (CH,),CHC = CCH,

(d) (CH,),CH-CH,C = CH

ifirs (C) & dan 7ar & 2

w ()

CH,

B s

(¢) CH,CH,C = CCH,CH,
(d) HC = CCH,CH,CH,CH,

Adw : s T vt & e -

5.

({3 -A)

A 3R e A & due & W o wges @ ¥
CH, (g), C,Hg (), CO,(g) 3R H,0 () & fore
AH? % WF BT — 74-84, - 84:68, - 3935 3R
— 286 kJ mol & |

e S e S e # 2
(a) - 890:66 kJ mol™
(b) — 655-33 kJ mol™!
(¢) - 445:33 kJ mol™!
(d) - 22266 kJ mol™!

Wrrme A B Fm mmad g e

(a) 260 kJ
(by 380 kJ
{c) 520 kd
(d) 650 kd

#é= feaen T (Wl e A sftm an @

(e) 093

{(b) 107
(e} 167
d) 201

sifE=R w Tite & e e T oEw & R, g
o WA weide @

= fir) . F{x) . f(y).
ge a{n wer o Frefa s # 2

(a) a0 [-BHS B
(b) AW d-HEDH B
(¢) Had p-BES B
(d) p 3R d-was Be
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Directions : For the two items which follow :

8.  Taking into account the isoelectronic principle

and VSEPR theory, predict in which one of the

following pairs, both molecular species have

pyramidal geometry ?

(a) BO}~ and 502"

(b) CO} and NOj 12.

o Hl

(e} SO;” and Clo;

(d) S0y and Clo;

9. Which one of the following is the correct

statement about the geometry of IF. 7

(a) It has octahedral geometry with one |13.
lone pair occupying face of cctahedron.

(b) Tt has regular octahedral structure.

{e} It has pentagonal bipyramidal structure
with one lone pair occupying an axial
position.

(d} None of the above

Directions : For the two items which follow : 14.

Two compounds (X) and (Y) of the same

molecular formula C H; gave the following

reactions :
Both discharged colour of Br, in CCl,

2. (X) gives a precipitate with ammoniacal
AgNO, and on oxidation gives propaneic
acid and CO,

3. (Y) does not give precipitate with |5
ammoniacal AgNO., and on oxidation
gives oxalic acid ani co,

10. What is the structural formula of (X) 7

fa) CH4C = CCH,

(b) CH,CH,C = CH

(c) C%:CH—GH:GHE

(d) CH2=C =EH—CH3

11. Whatis (Y)?

(a) CH4CH =C = CH,

(b) CH4C = CCH,

(e) CH = CCH,CH,

(d) CH,=CH-CH = CH,

N-DTQ-K-EJG (4 -A)

The -electrical resistance of a column of
0-05 M NaOH sclution of diameter 1 cm and
length 78:5 ¢m is 5000 chm.

What is the resistivity of the solution ?
{a) 500 em

ib) 40 Q em

() 30 £2em

(d) None of the above

What is the molar conductivity of the
golution ?

(@) 200 S em? mol™!
(b) 400 S em? mol™!
(¢) 600 S cm® mol™!
(d) None of the above

A plot of standard Gibbs free energy of
formation of metal oxide against temperature
is known as

fa) Tanabe — Sugano diagram
(b) Ellingham diagram

(e} MO diagram

(d) Lewis diagram

On a commercial scale H, can be produced
by the following sequence of reactions :

Red hot coke steam .
—

Steam X

450 *C Iron oxide
Treated with solution of Zl

Hy
What are X, Y, Z in the sequence of reactions
respectively 7

(a) (CO+H,), (CO,+H,), NH,OH

(b) (CO,+H,), (CO+H,), K,CO,

fe) (CO+H,), (CO,+H,), K,CO,

(d) (CO+H,), (Hy+H,0), CaO
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wgnag e faw ik VSEPR Rigra & e &
7 g, aoge & PrafefEs snftes winfs &
@i v, ffid safife e @ 2

(a) BOj sk S0%-
(b) €O;~ 3R NOj
(e) 805 3R ClO;
(d) 80, sk Cl0;

Frfefiem 4 & @ @ o3 1F, & il & fe
TR YA E ?

(a) TE Fewadg FuHa vam & e
;masaswq'{mumﬁgwmﬁa
|

(b) uE Fafim sewad daT @ |

(¢) ug dayeny RIS s v @ Gl
va vad g ey fefa w semfia

(d) 9w ¥ A B

Fder : st @t wet & fe

10.

11.

N-DTQ-K-EJG

THH FURE C, H, am & il (X) 3k () A
Frafafaa afufsat & -

. @t A CCl, # Br, @1 aof fasform & foar |

2. (X) sfama AgNO, & v Jmam 2ar #
ik siwdE s0 | MEEs o Ak
CO, e # |

3. (Y) arhfamm AgNO, ¥ smdu 78 %o &
it siedimr 5 W s e ok
CO, & # |

(X) & RIS g T E P

(a) CH,C = CCH,

(b) CH,CH,C = CH

(c) CH,=CH-CH =CH,

(d) CH,=C=CH-CH,

yaard?

(a) CH,CH = C = CH,

(b) CH,C = CCH,

(c) CH =CCH,CH,

(d) CH,=CH-CH-=CH,

wWww.jeywin.com
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12,

13.

14.

15,

{5 -A]

1 em W 3R 785 em ET$ @ 0-05 M NaOH
ffema ® ew v @ #ga wRRw 5000 ohm
4l

faeras & wReresa & 2
{a) 500 em
(b) 40 Q em
() 300 em

(d) udw d | B 78

faemm &t AR awwa o # ?
(@) 200 8 em? mol™
(b) 400 8 em? mol™!
(¢) B00 S em? mol™!

(d) I & | o T8

urg slieags & dvwad & a9e few g 53 &,
am & faeg e @ seemr # 2

(a) oIy amt
(b) vieEm 3w

(c) MO 3R=

(d) THEE NG

geq WRAYT W H, & JeA Praffes sftfsosd
& FpIaR fa o e @ -

- T T B

X bl > Y
450 °C g FHaus
zﬁﬁf&maﬁawmﬂﬁl

Hy

sifvfpani & s F X, Y, Z ower v # 7
(a) (CO+H,), (CO,+H,), NH,OH

(b) (CO,+H,), (CO+H,), K,CO,

(¢} (CO+H,), (CO,+H,), K,CO,

(d) (CO+H,), (H,+H,0), CaO

Dream Dare Win 5

Www.jeywin.com




Dream Dare Win WwWWw.jeywin.com

St

16. When Beryllium hydroxide is treated with |18. Consider the following monosaccharides :

acetic acid in water, the compound formed is CHO CHO
(a) Beryllium acetate, Be(CH,C00), H —1—GH HO —1—H®H
HO —p——H HO ———H
(b) Basic beryllium acetate, BeO(CH,CO0), H — OH e OH
{¢) Basic beryllium acetate, H——0OH H—T—0H
Be,O(CH;CO0), CH,0H CH,0H
(d) Basic beryllium acetate, I I1
Be(OH),Be(CH,COOQ),
CH,OH
I CHO
17. Consider the hydrogen atoms marked as H, C=0 H OH
Hy, H and Hj in the following molecule and
the statements 1, 2, 3 and 4 about their HO H HO — H
topicity : H—F+——0H H—F1——0H
H, H—71——0H HO —1T—H
L CH,OH CH,OH
H
III v
'll H, Which of the following statements are correct
H, H, in respect of the above monosaccharides ?
H 1. I andII are epimers.
) . 2. 1is D-glucose and I1I is D-fructose,
L H_a.* Hh are enantictopic and Hn, H, are 3. Tis D-glucsee and TV is L-ghicose.
dinsterectopic. 4. 11 and 1T will form the same osazone.
2. H,, Hy are diastereotopic and H_, H, Select the correct answer using the code given
are enantiotopic, below :
3. H,, H, are homotopic so are H_, H, s
by 1,3 and 4
4. H_ H, are homotopic and H,, H; are (¢) 1 2and4

enantiotopic, (d) 2 and 4 only

Which of the statements given above isfare

correct ? 19. The critical temperature and reduced
temperature of 2 gas are 150 K and 3

fa) 1 only respectively. What is the temperature of the
gas 7

(b) 2 only fa) B0K

(e} 2 and4 (b) 147K
e} 153 K

{di 1and3 id] 450 K

N-DTQ-K-EJG [ 6 - A}
[ -
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16. @ aRferay wwgiemzs @ aw F 0AR® e @ 18, Prafifes st ® fraw S

IoarRe far s @, & aar gon diffes aar & 2 CHO CHO
(a) aRfrm WiRe, Be(CH,CO0), B H =
HO ———H HO ———H
(b) @R aRferawm &R, BeO(CH,CO0), B e O ¢ ] M
(¢ ¥fwm aRfrm BMe, Be,O(CH,C00) =y P U
C
o e | H,0H CH,OH
Be(OH),Be(CH,C00), I 1
17. FrfeRes sop 4 H, Hy, H 3Rk H, & w7 & ?H“*GH CHO
dfda eweem wanph, 3R T AR & C=0 H——— OH
wE ¥ @A 1, 2, 3 3R 4 w few @ife - HO —2ias i B0 et
c H ——— OH H ——— OH
LH H—f—— OH H0——R
CH,0H CH,O0H
[ 8
" i 11 v
d b 3t HeRiERTge & waea ¥ Preffea sae 4
H AT AT E 7
1. H, H, gfwmefs & sk H, H, 1. IdRnedmRE |
sarRareiis ¥ | 2. 1, Dagerw & 3R 111, D # |
3. I, D 2 3R IV, L # |
2. H, H, smifaefs & sk H, H_ 5. | imalle Y shansher it |
R & | e R e ge @ i @R wd I qfe -
3. H,H wrer # 3k 3 wor H, H, (a) aw 13k 2
g (b 1,33K 4
4.  H,H,; ¥mer € 5k H, H, sifeaeits () 1,234
g1 (d) w23l 4
I® S # A B A wd 7 19. v #9 & wifos a0 TUr wEFE @m @ 150 K
@) Wi a3 |t mamamd ?
(b) ¥ 2 il
(b) 147K
& 23R4 (©) 153K
d) 13k3 (d) 450 K
N-DTQ-K-EJG (7 -A)
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20. What would be the ratio of mean-square |24. A compound of boron X' on heating swells,
velocity of hydrogen gas at 50 K and that of which on further heating gives glassy
oxygen gas at 800 K ? transparent solid Y". The transparent solid Y’
(@) 1 on reacting with metal oxides gives
" characteristic  coloured compound. The
by 2 formula of X, Y and name of the test
© 4 respeclively are
(d) 16 (a) NHEE"ID? . I{’I'iiﬂn Biﬂ‘l and rnng test

(b) NayB,0..10H,0, B,0O, and borax bead

21, Which one of the following is correct when an best
ideal gas is expanded adiabatically and (¢} HyBO,, B,0, and borax bead test
reversibly ?

(d) NaBO,.4H,0, B,0, and flame test
(a) g=0, W= andT, AU = nC dT
b) q=0, W=0, AU =nCdT 25. In AL,Cly, which has dimeric structure,
(e} g=0, W=nCdT, AU=0 {a) All Al-Cl bonds have equal bond
lengths
(d) None of the above
{b) Al—Cl (terminal) bonds are longer than
Al = Cl (bridged) bonds

22. Given }'mm,, = 58 kJ mol"!, What is the fe) Al-Cl (terminal) bonds are shorter
change in enthalpy for 1-0 g of water frozen at than Al - Cl (bridged) bonds
its normal freezing point ? (d) None of the above
fa] - 322 kJ
®) - 8927 26, ‘:T:ri:; _;:me of the following statements is
(¢) 3224 (a) NaAlH, and NaBH, are readily
(d) 322 kJ hydrolysed.

(b) NaAlH, and NaBH, are not hydrolysed

23, When an ideal gas is expanded adiabatically at all.

. , v
and infestibly: fan T:rulufnc 1 % Vg Sen (¢) NaAlH, is hydrolysed more readily than
which one of the following is correct ?
NaBH,.
() ‘32 Esystem); 0 nm_i (d) NaBH, is hydrolysed more readily than
AS (surroundings) = +ve NaAlH,.
ib) AS (system) = +ve and L " . . . ——
; - g n tetrathionic acid, what is the number o
AS (surroundings) = 0 S-S bonds ?
(el AS (system) = 0 and (a) Two
AS (surroundings) = 0 b) Three
(d} AS (system) = +ve and i) Four
AS (surroundings) = —ve d) One
N-DTQ-K-EJG {8 -A)
P P py———
Dream Dare Win 8 Www.jeywin.com
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20. R R B 50 K R an avf-mmen wen sifesiis=
9 & 800 K W &0 avf-wied &1 awua @4 g ?
(a) 1
(b 2
(c) 4
(d) 16
21. Frafefas 4 4 29 o 5 o &, 59 & sy
ey T vd Fmpaoiig w9 gl & A & 2
(a) q=0, W=nCdT, AU =nC_dT
{h) q::u, w:[}, ﬁU:nCvdT
(©) g=0, W=nCdT, AU=0
(d) Ies F & B &
22, AHZ _ =68kJmollfEmmm# | 10gww
&, I 3w I Bws w) weitfe B mn @,
o o o o @ 2
(a) -322 kJ
(by -322J
(¢) 322J
(d) 322 kJ
23, & vw gt B e V) ¥V, 76 Sarw
Bd argenaviae waia fsar s &, @ PeafiRea
AdeRwmmwa e ?
(a) AS(FF) =0 TEm AS (UREAI) = +ve
(b) AS (dF) = +ve @1 AS (uRdw) =0
() AS(Fa) =0 @ AS (WRAM =0
(d) AS (F3) = +ve T AS (UAT) = —ve
N-DTQ-K-EJG

(9-A)

ARG B va A X IRA ST o) B &, S s
R T B W BT WY UGS o1 Y & # |

uRediEs S Y oy siwassl ¥ sfifsar e
Fftrnefors o diffs 2 @ | X, Y & @@ awn
T ol & A HEe W E 2

(a) NayB,0,.10H,0, B,0, 3k awra sdawr
(b) NayB,0, . 10H,0, B,0, 3R qewn wform
T

() HBO,, B,O, 3R germ nftrs wliaor
(d) NaBO, . 4H,0, B,0, 3R Fawm wdemwr

ALCl ¥, Free iy wwam &,
ta) W Al - Cl 3@ ¥+ W e &

(b) Al-Cl (3w sm&w, Al-Cl (3fs)
R A et ]

(c) Al-Cl (3a=n &4 Al-Cl (¥R
et & g #

(d) 3oges # ¥ B T

Preffar st A d el wes, w1 & 2

(a) NaAlH, 3R NaBH, 98 & sr-smufea &
S |

(b) NaAlH, 3R NaBH, fega & s@-amufea
T

(c) NaAlH, NaBH, # sian st fiwar 4
ter-rafea & S # |

(d) NaBH,, NaAlH, @ 3tan st viwen &
Frer-srafen & s # |

Sy spe i, S - S e & e a2
(a) &
(by @

(e) ©R

(d) ©®

Www.jeywin.com
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Consider the bonds marked as a, b, ¢, d in the

: 31. For a gaseous reaction A + 3B = 2C;
following structure : AH® = — 900 kJ, AS° = — 2000 JK
o A B AN at 400 K. What is AG® for the reaction

_ | \ las2Bac at 400K?

What is the correct order of their homolytic 2 2
bond dissociation energies ? (@) —50kJ
(fa) as>b>e>d (b) —10-0 kJ
(b) d>e>b>a {e) — 150 kJ
(¢} a>b>d>e (d}y - 200kJ
(d] None of the above
832. Consider the following :
dH
29. Consider the following compounds : 1. ﬂ_p = Cp
T
I. PhNO,
. G
IL. PhCN O -l
P/r
I1I. PhNC
: ()
- PJT
1 op H
IV. PhC - NHCH
G 3 Which of the above are the thermodynamic
What is the correct order of the pK_ values of elationi ? i
their products of reduction with lithium '
aluminium hydride ? (a) 2 only
() HM>MI>IV>I (b) 3 enly
b) IV>MI>1>1 (€ 1and2
(© I>HI>H>IV (@ 2 and g
d) W>O>M>1 33. According to the Phase Rule, which one of the
following satisfies the values of C =2, P =3
30. A racemic mixture of an alcohol (A) reacts and F=17
with less than one equivalent of an optically (a) NH/CI (s) heated in an empty container
pure chiral acid chloride (B). The ester is in equilibrium with NH,(g) and
produet formed should be a HCI (g)
(a) mixture of enantiomers in equal {(b) NH,Cl(s) heated in a container
amounts. containing some amounts of NH, (g) is
(b) mixture of enantiomers in wunequal in equilibrium with NH, (g) and HCI (g)

Hengunts; . (c) A saturated solution of Na,S50,, with
() mixture of diastereomers in equal excess solid is in equilibrium with its

amounts. :

vapour in a closed vessel
(d) ixture of diastereomers in uneqgual
?I:‘I:l.lﬂts. . (d)  None of the above
N-DTQ-K-EJG { 10 - A}
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FrfafEs dx@m & a, b, ¢, d & w9 & 5T sna=t |31,

w faar i -
W
= = c

I wHFUe wEy fdem Fi & w9l B
FRe?

(a) a>bh>e¢>d

(b)) d>c>b>a

c) a>b>d>c

(d) I & & I T 32.

Frafafas difiel w far #ite :

I PhNO,
I PhCN
I PhNC

0
[l
IV. PhC - NHCH,

oiftran degfifram esge & 9% smade & Je
ﬁpﬂnﬂﬁﬂﬂﬂﬁmt?

fa) M>IM>IV>1
(b) IW>I>1I>1
l'n]_I}[II:»I]hIV

(d) IW=IM>M>1

v PEiTe (A) & v Wil Mo yeree o
e ohE RS (B) § e ¥ @9 geie ¥
s avar @ | frfaw owx s @ @
afee ?

(a) AW "l o wfefeaet & G
(b) F= wrEed § wiefirasd & fson
(c) ww= wEnst # swfafed Bfm woeaE &

figsmor

(d) wmﬁmﬁhmm
L)

[ 11 -A)

Www.jeywin.com

s g afifisar A + 3B = 2C & fwe, 400 K
W AH® = - 900 kJ, AS° = - 2000 JK %,
mﬁ&m%ﬁ+gn=c$h4nnnwm’
R ?

(a) —50kJ

(b) - 10:0 kJ

(€) — 160 kJ

(d) - 200 kJ
Frafofies w frar Hife

(@)
iG] _

2. [EL‘V
aT) _

3. [E]}] = K7

g # & Bl ¥ 3ol e § 2

(a) &I 2

(b) & 3

0 132

d 23k3

yraee From & seeR, Frafafes 4 @ @ o,

C=2,P=3@aF = 1& 7Fl 3 ¥q< S & ?

(@) ud Re o= F mw fsar T NH,Cl (8)
st NH, (R @ HCl(hw) & @
T § #

(b) U G # IRA fan T NH,CI (8w Tt
o @ # NH, () 2, 3 NH, () aur
HCI () & wra wmaween f &

() oW & 3ftEa F Y Na,SO, &1 06 69
foeram, s eF a= U A I am B W
e ¥ #

(d) e ¥ & B TE

Dream Dare Win 11
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i L |
34. A transition metal complex has trigonal [38. Commonly employed reaction in extraction of
bipyramidal geometry. The point group to gold is given below :
which the molecule belongs is
4 Au + B NaCN + 2 HyO + X — 4 Na[Au(CN),] + 4 NaOH
(@) C, lY (used to precipitate)
Au
(b) C,
What are X and Y in the reaction respectively 7
(e} Dy,
(a} N, and Cu
(d) C,
(b) O, and Zn
85. When aqueous KCN is added to AICI, (¢} CO, and Ni
solution, which one of the following results ? (d) CO, and Ag
(a) 1’|J{li}|'HJ'3 is precipitated
b [Al CN}EI?'" is formed 39. Consider the bonds 1, 2, 3 and 4 in the
following structure :
(e) [AUCN),]™ is formed
i i
(d) AIlCN), is precipitated HOOC - CH, - NH L 0 - 0B, - :I:H-cim-cu,cmn
N’Hiﬁ-clm_nu iﬁ_nn,
36, In the extraction of pure Ni, the following o o D
reaction is utilized : Which of the bonds are peptide bonds ?
g — Ni(CO) > Ni
Mo §0°C * temperature Y °C o (a) 1 and 4 only
In the above reaction what are X and
temperature Y respectively 7 (b) 1and 2 only
(a) CO and 100 °C {c) 2and 3 only
(b} (C + CO) and 150 *C (d} 1,2 and3
(e) (Hy + CO) and 230 °C
(@) CO and 230 °C 40, An organic compound shows absorptions at
3250 (m,br) and 1650 (str) em™, besides other
absorptions in its IR spectrum. Which of the
37. In Parker’s process for the manufacturing of following structures for this compound is
silver, molten lead is extracted with compatible with these values ?
fal Ni (a)  PhCONH,
(b) Al (b) PhCONHCH,
(e} Zinc (c) PhCOCH,NH,
(d) Copper (d) PhCOCH,NHCH,
N-DTQ-K-EJG [ 12 - A )
e e b e
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34. UE wpAU o o oo RS sl

v # | a8 s Frefefen few fg o @
wat g 7

{13 - A )

38. vl & Prepor & wmiemer v siftfsar A & o

&

4Au+8NaCN+2 H,0 + X — 4 NalAulCN)yl + 4 NaOH
l‘t‘ (e e wges)
Au

fEm d Xk Yy mrm an € 7

[a} N2 aﬂ'\’ Cu

(b) O, 3R Zn

(e) CO, 3R Ni

(d) €O, 3R Ag

Freafafiea g o st 1, 2, 3 3 4 . AR
Wi .

Il 0
IMD{:—BH,—HH}-E—GH;-(I:H-C 2 NH - CH;000H

mriﬁ-ﬁm—}miﬁ—cﬂ,
O CH#h O

B W ey Yews ey § 7
(@) aw 134

(b) ®aw 13k 2

(¢} Waw 23R 3

(d 1,23R3

ve wHfs difie s IR Sy 3 3 s
& Femar, 3250 (m,br) 3R 1650 (str) em™! W
save weffm w@ & | gw difie & fae
Preftfeaddds N dmmE o S wm g ?

(a) PhCONH,

(b) PhCONHCH,

(e} PhCOCH,NH,
(d) PhCOCH,NHCH,

(a) Cg,
(b) C,
() Dy,
@ C,
85. & SEa KCN, AIC, fegs # s swn &, &t
Frefefaa # & 2 w1 oRomm sy dar @ 2
(a) ANOH), yafére g @
(b) [AUCN) > &em &
(¢) [ANCN),]™ &ar &
(d) AlCN), safére & &
36. Y& Ni 5 Fepdu #, Feafofaa sfifem swim 4
I &
NiO + X ——zem® Ni(CO), e
Fudes affisan #, X oo am Y wwer @ & 2
(a) CO 3T 100 °C
(b) (C + CO) 3R 150 °C
(e) (H,+CO) 3R 230 °C
(d) CO 3R 230 °C
37. i & Fofor & B wdw wew F, ot @R @
Prefefas o & fruds w Presffa R smr @ 2
(a) Ni
(b} Al
(e) I
(d) @
N-DTQ-K-EJG
Dream Dare Win 13

Www.jeywin.com




Dream Dare Win

WwWWw.jeywin.com

41,

42.

N-DTQ-K-EJG

—

A solution containing 0-10 g of non-volatile
100) in 200g of
benzene depresses the freezing point of
benzene by 0-25°C while 0-50 g of another
non-volatile solute Y in 100 g of benzene also
depresses the freezing point of benzene by
0-25 °C, What is the molecalar mass of Y ?

43.
solute X (molar mass :

(a) 50

(b} 100

(e} 150

(d) 1000

44,

An ideal solution is formed by mixing two
volatile liquids A and B. X, and X are the
mole fractions of A and B respectively in
the solution and Y, and Y, are the mole
fractions of A and B respectively in the
vapour phase. A plot of (1/Y,) along y-axis

against (1/X,) along x-axis gave a straight
line. What is the slope of the straight line ?

(a)

(b}

() pi - pg

(where pi and pg_ are the vapour pressures
of the pure components A and B respectively.)

(14 - A

The mole fraction of a gas dissolved in a
solvent is given by the Henry’s law. If the
Henry's law constant for a gas in water at
298 K is 556 x 107 Torr and the partial
pressure of the gas is 200 Torr, then what is
the amount of the gas dissolved in 10 kg of
water ?

(a) 20 x 107* mol
(b) 26 x 107 mal
(€ 37 x 107% mol
(d) 12 x 107® mol

For the reaction A + 3B - 2C + 2D, the
concentration of A changes from 0-0150 M to
00135 M in 1 minute. What iz the rate of
formation of C in Ms~! ?

(a) 50 x 1078
(b) 25 x 107
(e) 30x1095
(d) 50 x104

For cancer treatment radium isotope has

been replaced by ﬁﬂu. The :‘;Co can be

prepared by (n, p) and (n, y) reactions.

What are the target nuclei for these reactions
respectively 7

(a) gNi and _:1':00
(b} ;f,ﬂa and iﬂi
fe) ::Ni and iﬂa
fd) ::Ni and :{:Cu

Dream Dare Win 14
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010 g 3amee fEem X (HeR gewE : 100)
20g F ¥ TR R W5 Ruw @
0:25 °C rEAfia & &1 & Fafd 0-50 g U6 TH
samehe fda Y 0 100 g W F O ®
i @ s o2 Camfm AR am & | Y@

yfees g @ar & ?
{a) 50O

(h) 100
(e} 150

(d) 1000

@ ardlid 76l A 9u1 B @ e W o smed
fae &1 € | X, W X, AT B $ FE;
faeram & #e 3w € T Y, € Yy BE A w0
B &% o wawm # W@ 3w | yIW W
(1/Y,) ®, x-38 R (1/X,) & foog ame &
W Y A @ | W Y @ e aor @

{a)

(b)

(el pnB - Py

(31T p\, @ur p}, W& sETEl AT B & BT T
e #)

Dream Dare Win 15
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43,

45.

wWww.jeywin.com

re fivms # O & e T @ d9w swm
Pamd g ot 5@ e e & ow
#0 Prom Reis 298 K W 565 x 107 Torr &
ur @ i =@ 200 Torr 8, & 1-0 kg 5
fgtg e @ 7

(a) 20 % 10~* mol
(b) 25 x 107% mol
(¢) 37 x107% mol
(d) 12 x 107 mol

i A + 3B — 2C + 2D & fame, A &1 "o
1 R % 0-0150 M 3 vRafia @@ 00135 M &
M ICHETVET S R Ms Fa & ?

50 % 1078
2.5 x 1078

30 » 107°

(a)
(b}
(e)

(d) 50 x 101

=R B JvER & fre Waw wwwe & ) Co

g Wi &% R mn & i{]n # (n, p)

R (n,y) sffEaEl e ffe o o o
o

= sfufsan & fw ower seg s s € 2

Oni 3k Peo

(a) 28 g

{b) 4%

Co

() ;:Ni

T 2 2

i

o s Bt
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46.  On commercial scale, at present, electricity in
India is generated by making use of

{(a) Nuclear fission reactions only
{b) MNuclear fusion reactions only
{c) Nuclear fission and fusion reactions

(d) Artificial radioactive material of low
malecular weaight

47.  1g of radium emits 3-6 x 10!? w-particles per
second. The speed of the a-particles is
107 ms~! and mass of the w-particle is
66 x 1027 kg. What is the total kinetic
energy of the a-particles emitted from 1g of
radium ?

(a) 0-0119J

(b) 004 J
(e} 0104
(di 01194

48. The IUPAC nomenclature for
[PUNH,),] [PtCl,) is

(a) Tetraammine platinum (IV) tetrachlore
platinate (II)

{b) Tetraammine platinum (II) tetrachloro
platinate (II)

(e} Tetraammine platinum (I1) tetrachloro
platinum (IT)

(d) Tetraammine platinum (II} tetrachloro
platinate (IV)

49. Which carbocation in each of the following
pairs (A, B, C, D) is more stable than the
other respectively ?

® @
A. (i) CHz0CH, (i) (CHy)yN—-CH,

@ @
B. () CHyOCH,CH, (i) (CHy O CH,

c.i) ¢ < (i) 4
@ @
CHCH, CHCH,
i 7 ™ w7

Select the correct answer using the code given
below :
A B C D
(a) (i), (i), @, @
(b) (i), (1), (i), ()
te) (i), (1), (ii), (i)
(d) (1), (i), (b, (i)

50. Consider the following reaction :

(BHg)y, A
I

(X T, oF
D CH,
What is the compound A in the above
reaction 7
{a)

D H
(b)

D OH

HO H

(d) None of the above

N-DTQ-K-EJG (18 - A |

[ P == ——
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46. WRa ¥ aduE ¥ gea R ¥ fag fSwe swm fFr=fefaa gt (A, B, C, D) # A vds # B W
e T I FribCTaT BT gAY o sien st wrd # 2
@ @
A. (i) CH;0CH, (i) (CHg),N-CH,
(a) ae Ty fraves sfifmael 4 & .
B. (i) CH,0CH,CH, (ii) (CHjy) O CH,
(b) Waw T dwas sffEant |
(© iy fave 3R e st 3 .t L0 (i) C‘i«
(d) @ fas W @ phw Wl wd @ %HCH:, %HCHB
D. (i) O/ (ii) Q,
9 faw e Fe @ wdm @R W IR gHe
47, 1 g YEEm 36 x 10'0 owor ofy dwvE I A B € D
T ¥ | oo # g 107 ms! # 3R oo fa) (i), (ii), (i), (i)
(e) () (i), (i), Gi)
Fefarel IS TR ? J
S ’ @ @, G, G, (M
(a) 00119 J
i, oed P s o frar A
{c) 0104 Q (BHz),
H,0,, OH™
(d) 0119 J 5 CH, 2
Fudes sifufisan & diffes Ama @ 7
®
48. [PUNH,),][PtCl,] & fow [UPAC “maRol
wTE? D H
(b)
(a) egwlE Sfian (V) SgEeR e an @
D OH
(b) Fgmmis @ifeam (1) gEe @A (m)
(¢) egmmim et (1) ey @fesm (1 '
HO H
(@) Egei @Rem (D e dfe (V) (d) 3w # ¥ B T
N-DTQ-K-EJG {17 - A )
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61. Consider the following statements : 66. All are primary pollutants, except
The mole fraction of a solute in a solution is

(a) S0,

1.  independent of temperature.
2. equal to mM,/1000 for a dilute solution (b) H,80,

(m = molality of the solution and M, is

the molar mass of the solvent). (e) NO,
Which of the statements given above isfare (d) Particulate matter
correct ?
(a) 1 only
() 2 only 56. Which one of the following compounds has

() Bothland 3 prodiastereotopic aldehyde group ?

(d}) Neither 1 nor 2 {a) 2-Methylpropanal

(b) 2-Phenylpropanal

52. 100 mL of a solution containing 1-0 g of NaCl
(molar mass 585) is found to be isotonic with {c) 2-Ethylbutanal
200 mL of a solution containing 1240 g of (d)
glucose (molar mass 180). What is the degree
of dissociation of NaCl ?

fa) 050 67. Consider the following compounds :
(b) 065

OH Cl
e} 070
(d) 095
OH
Cl

83. 200 mL of 0-2 M weak acid (pK_, = 50) is

Cyelopentanecarbaldehyde

titrated against a 0-2 M strong base. What is I I

the pH at the equivalence point ?

(a) 50

(b) 70 H H

(€) 90 . e

d 11 M /_ \
) W Cl Cl

64. The energy sequence of five d-orbitals in 111 v

uare planar strong ligand field is (assume

:flaxis ?5 purpendi-;‘ulaf- to the plane of Which of the above compounds can exhibit

molecule) : optical activity at room temperature ?

(a) dg ~F d;g >dg>d, = dﬂ (a) landII

{b} dxz_yﬂ = dxﬂ = d,.-:..- - du P dﬁ ”J] I and IV

© da>da_p>d >d, =d, (©) IV only

(d) None of the above (d) T and IV

N-DTQ-K-EJG (18 - A}

[ A R e ey - -
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51. FrfafEs sl w far difse

v faera &1 oo faeras # de sim A @

1. @9 @ |

2. s 7] faem & e mM, /1000 & wR
(m = @) e aen M, s @
ez #) |

e sl # B wA wn e 2

(a) &ae 1

(b) &aw 2

(¢) 13R 22

(d) ad13ikad2

52. UF 100 mL feww, G 1.0g NaCl (HeR
EmE 58:5) fEm #, 120g wEW (HER
ZEWE 180) a1 200 mL @@aa & wwausd o
I # | NaCls fdem o & 7

(a) 050
(b} 065
{c) 070
(d) 095

53. 02M g = (pK, = 50) & 200 mL &
0-2 M vad &R & faeg sigufte fear smwer & )
qeaen fag o pH @ & 7
(a) 50
(b} 70
(e) -90
(d) 110

54. wiiveanme @ wHaw! A@eeA & # dig d-wmest o1

FA1 A TR (2-38 BN RO T T W A
difse) »

(a) ‘112_,.23'5,}.""1;23"1,;:“'1”
ib) dxﬂ-yi}d:2>dxy}dxz"dﬂ
(c) dﬁg}dkg_ygbdq}dutﬂy’_

(d) 304 # & B o

N-DTQ-K-EJG

55.

87.

{19 - A)

Www.jeywin.com

PrefiRas o s wqus &, R
(a) S0,

(b) H,S0,

() NO,

(d) wftrmr z

Prfifer difist & ¥ aw @«
serariRaeiie Meegs wiE wam # 7

(a) 2-HRmEmit=e

(b) 2-WfFemEe

(c) 2-vfiimER==

(d) VEEERRAEHEETs

Frafafaa difiel w far #ifwe -
OH Cl

gl

1 v

g difiel ¥ ¥ B ¥ Iw av W TEie
wfesaen =i W & 2

(a) 13RI
(b) IstkIv
(c) Fae IV

d) ImaR v

e

Dream Dare Win 19
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68. Consider the following structures : 61. Given the standard reduction potential (E?)
COOH COO0OH values of
N H ——— OH Fel* + e = Fe?t: E°=077V
= Br Br ——— CH, Fe’* + 3¢ > Fe: E°=-004V
What is the value of E° for Fe®* + 2e —» Fe ?
CH4 H
fn) 0730V
I 1 (b) - 0195V
B le) —0445V
£ or (d) -089V
H — COOH HOOC—+——H
n — a ':l .
HEC —1 Br H—— CHa 53. If Ecu2+icu = (0-34 V ﬂ.ﬂ.d EAE+|AE = U EU v,
H Br what is the emf of the cell
m v . 2{9_:; quq,u* (001 M) || Ag* (0-01 M) | Ag
Which one of the above structures represents a @ o 4—[}‘\’
diastereomer of erythro-2,3-dibromobutanoic N
acid ? i) 046V
by 1I d) 052V
(e} III
(d) IV 63. If an electron travels with a velocity of 1/100"
speed of light in the first Bohr orbit, what is
59. The resistance of a 0-10 M weak acid HA in a its velocity (relative to the speed of light) in
conductivity cell is 2:0 x 10° ohm. The cell the 5'" Bohr orbit ?
constant of the cell is 0-78 em™ and A, of the (a) 0-002
acid is 390 S em? mol™, 3 B2
Consider the following statements : y
1. pH of the acid solution = 3. &
2. pK, of the acid = 5. d) 07
3. Degree of dissociation of the acid = 001 |gg  Which of the following statement(s) is/are
Which of the statements given above are correctly applicable to all the transition
correct ? elements with atomie numbers (21 —29) ?
:ii : a“j g “:'ﬂlf 1. The lowest oxidation state is (+ 1).
and 3 only e s .
(© 2 and8onky 2, ‘2109:1,;1[:13. ;tgtt.::et.al iz completely filled in the

(d) 1,2and3 3. The 3d-orbital is incompletely filled in the

ground state,

60. The reaction taking place in the cell :
4, The ion in the (+2) oxidation state is

Pt | H,(g) | HC1 (1:0 M) | AgCl | Ag is paramagnetic.
- Select the correct answer using the code given
(a) AgCl+(1/2) H, » Ag+ H' + CI” below :
(b) Ag+ H*+ ClI”— AgCl + (1/2) H, (a) 1,2and3
Sk, 5 it (b) 3 and 4 only
(e) R T 2Ag + (c} 4 only
(d) 2Ag+2H* > 2Ag* + H, (d) 3 only

N-DTQ-K-EJG {20 - A}
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58. Fr=fefies dwaanh w far 5w - 61. Fafofles & o= svags e (B9 we e ne
COOH COOH £
H — Br H ——— OH Fe®* + e = Fe?*; E°=077TV
H — Br Br——{':[—[a Fa"’"+39—>Fe: E'=-004V
CH, H Fe*+2e s Fea e Emramam g ?
] “ 'fﬂ.'l I}~T3-0V
(b) —-0195V
Br Br {c) —-0445V
H— COOH  HOOC — H W =Sy
] P 62. ufz g° =034 V3R E° = 0-80 V,
HyC Br H CH,4 1*:{3l==a i Eu b 0
H Br ?E.ﬂ‘l%ﬂ
= ol Cu | Cu®* (0-01 M) || Ag* (0-01 M) | A
Ww O Wwe st # F #\ oW i ¢
oRe2 3eRAmERR® I @ S swhad o 298 KW o & (emh) 71 & 2
Afew wraga et @ & 2 (@) 040V
fa) 1 ’
& 1 (b) 046V
(c) 1IN cd OBOV
(dy IV (d) 052V
@ 0-10 M gder et HA o1 Wiy, arersar @ |68, df% 0% @ v & & & 1/1003 a1 3 wem
2:0 x 10° ohm 2 | ¥& & ¥t Reis 0-78 em ™! & I ®an W w=ar @, A 541 aww man o
T I W Ay, 390 S em? mol ' # | (wesTeT & TTE & we) ges ana g ?
Ffaias suE o Far it (a) 0-002
1. a3 f@ems @ pH = 3. () 01
2. W @ pK, = 5. (e) 05
3. anet @ fardem A = 0-01, d) 07
TE ER A B A E 2 :
(@) a1 3k 2 64, Frfofes moet 4 & s W@, ) e
) FHaT 133 (21 — 29) T W wpwor awl & e wd-ed
(c) hae 2 3T 3 Fewdrsg B8 ?
(d) 1,233 1. Feram sifediow sEwn (+1D 8 |
2. 3ma FEwEn A 4s-He@ i 9RE g # |
/7 Pt | H. HCI (1-0 M) | AgCl
Ilﬁil f | AgCl| Ag 3. 3 sren ¥ sd-mew sk WRa dar # |
PRI U W 4 ;;}#ﬁnﬁﬂmmﬁmw
|
(b) Ag+ H* + CI” - AgCl + (1/2) H, (@ 1,23R3
- ; (b) HEm33R 4
(c) 2Ag” + Hy, - 2Ag + 2H G S
(d) 2Ag+ 2H" — 2Ag* + H, (d) a3
N-DTQ-K-EJG (21 - A)
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65. Addition of BY to AH results in the formation |89. Which of the following Newman projections
of an adduct AH — BY, through hydrogen bond. represent chiral molecules ?
The stretching frequency of AH bond in the
adduct Ph Ph
(a) decreases as ¢compared to that in free
AH H Br Ph Br
(b) increases as compared to that in free
AH H Br Br H
(¢c) does not alter Ph H
(d) cannot be predicted I .
66. In the MO configuration of XeF,, how many
electrons are present in the bonding MO, Ph Ph
non-bonding MO and anti-bonding MO Ph Br Br H
respectively 7
(a) 2,0 2
b 21,1 H Br H Br
) 2,20 H Fh
d 1% I v
67. The preferred conformation of Select the correct answer using the code
cig-1 4-dimethylevelohexane is given below :
(a}) Chair with both methyl groups in axial
position {a) Tand]Il
(b} Chair with both methyl groups in (b) I and II
equatorial position
{c) Chair with one methyl group in {e) I and I
equatorial position and the other in
axial position (d} TIT and IV
(d) Boat
68. Consider the following molecule : 70. (R)-2-butanol has a specific rotation of
':.-':;DH -13-52°. A sample of 2-butanol has observed
3 specific rotation of +6-76°. What is the
@/\0 percentage ee (enantiomeric excess) of the
sample ?
The configurations of the left and right chiral
centres respectively in the above molecule are (a)l 25
(a) RR by 50
(b) RS
(e) SR e} &7
d) S8 (dy 75
N-DTQ-K-EJG 22 - A}
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BY &1 AH & dim a7 W S e & g
U@ dniere AH — BY &ar & | dieae § AH
ey @ 7 Imaf,

(a) T AH & o= snghy o qeen & wed #
(b) T AH o o amgfer & qern & agat #
(¢) uRafia 7@ & &

(d) e = & I W &

XeF, # MO R=gr #, amdes MO, 3Tt MO
iR wig-amdes MO ¥ men fves goag aufem
g7

{(a) 2,0, 2

(b) 21,1

) 2,20

d 1,21

:m1.4-€raﬁﬁrﬂmmﬂm=rmaﬁumm

{a: ﬁmwmmwmm

(b) gﬁgﬁmmﬁﬁﬂﬁawﬁz@uﬁuﬁ

(¢) FE) ¥ forewl ves Afim s Frefw sk
Fow i Rufy & &

(d) =t =

frr=forfEa sy o1 fram @fw -
_OH

E‘ul\‘-

e w0 F @ vd wfior A e & e
T &

{a) RR
(b RS

69. Prefafes =pm wddt § 4 @9 ¥ SN sopit &

70.

fefmem & 2
Ph Ph
H Br Ph Br
H Br Br H
Ph H
I 1
Ph Ph
Ph Br Br H
H Br H Br
H Ph
m v
T e e e @ v e w I g
(@) 13RI
(b) I3kl
(¢) Nakin
(d) T3l IV

(R)}-2-8¢+ & fRftre g -1352° & |
2.8l & 0P viaed @ fgm e e
+676° & | e % ee (vRfimwy anfiem) &

wiererear @ & 7

(a) 26
(b &0

(c) 67

(e)
(d)

SR
S8

N-DTQ-K-EJG
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71,  The emf (E) of a cell is related to its variation |73, Kinetics of the reaction A (g) - 2B (g) + C (g)
4 JE ig followed by measuring the total pressure at
e [‘ﬁ)p and AH as different times. It is given that
Initial pressure of A = 0-5 atm
(a) E= AH T[%) Total pressure after 2 hours = 0-7 atm
nf P Rate constant of the reaction = 1 x 107 g7}
AH IE What is the rate of the reaction — dia] when
by E=—— - T[_J
nF dT 5 the total pressure is 0-7 atm 7
(a) 20 x 1074 Ms™!
AH dE
e} E=- 5 +T[ﬁ]p (b) 40 x 1079 Ms!
(e) 50 x10~4 Ms™!
(di E=- ﬂ = T(E] (d) 70 x 1004 Ms!
aF  \dT)
74. A solution of Na,30, will be oxidized to
Nag830, by KMnO, solution in an acidic
E ) medium. KMnO, is reduced to Mn?*. How
T2. Consider the following statements : many moles of Na,SO, will be oxidized by
When a direct current is passed through an one mole of KMnO, ?
agqueous concentrated solution of NaCl
{a) 5 moles
1.  pH of the solution decreases. (b} 3 moles
2. Metallic sodium will be deposited at the L
cathode. (d) 1 mole
75. Which of the following statements about
3. Chlorine gas will be liberated at the HCO; are correct ?
anode.
1. It is a Bronsted acid.
4. pH of the solution increases, 2. It can ionize in water to form CG%‘ (aqg.).
3. It does not exist in aqueous solution.
Which of the statements given above are 4, It iz a Bronsted base.
correct ?
Select the correct answer using the code given
(a) 1and2 below :
(a) 1,2and3
(b) 2and 3
(b) 2, 3and4
icl] 3 and4 fe} 1,3 and 4
(d) 1and3 id) 1, 2and4d
N-DTQ-K-EJG (24 — A )
[ S A a————
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71. vE U & @A, a9 (emf) (E) 396 o # faawor | 73.

[a—E—) au AH ¥ 59 vor wafoa g 7
T/

72. Prefifea woe w R & -

@ ve fiw U vE ser W NaCl faeas A

walfea @ SR &,

1. faegs & pH w2 & |

2, iz w uffas wfEaw s & smom |
3. e W aede o @

4. PRega @ pHEgm 2 |

m e F AT I e E ?
(a) 132
(b) 233
(e) 334
(d) 13R3

N-DTQ-K-EJG

| 25 —'A )

T4,

5.

sfufsar A(g) —» 2B(g) + C(g & " &
srgeeon, Rt Wl o) e @ra A &R, T
PR

A @1 ARf® @@ = 05 atm
2 ¥e ®E $61 €4 = 0-7 atm
sl & an Praais = 1% 100 57!

affsn & = diA]

-—— TR T PA T
07 atm & ?

dt

(@) 20 x 104 Ms!
(b) 40 x 1079 Ms™!
(¢) 50104 Ms!
(d) 70 x10"* Ms™!

Na,80, &1 U6 fawee, e weaw 3 KMnO,
fiFgs g0 Na,S0, # sifediga & smwem |
KMnO,, Mn2* # smafaa & s & | KMnO, &
vs d g Na,S0, & fo e sifadiipa &
S ?

(a) b W&
(b) 3=
(© 2-57@
(d) 1%@

Prefifen modt % ¥ @A HCO; ¥
wE?

1, UEUS ANtE WA R |

% og 3@ # HEApa dER COL (Siefa) &

Hadr € |
3, ag sty R ¥ sftawe o8 @ #
4, UE U AT AR B |
# fe me g @ W ax TR I g
(a) 1,233
by 2,33R4
(@ 1,33Rk4
(d) 1,234

Dream Dare Win
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76. A metal M readily forms MSO, which is

77.

N-DTQ-K-EJG

_

Dream Dare Win

water soluble. It forms an insoluble hydroxide
M(OH), which is soluble in excess NaOH
golution. What is the metal M ?

(a) Mg

(b} Ba

(e} Be

(d) Cannot be determined as data is

insufficient

Consider the following compounds :

CH,CI
L c=c"

~
H,CH,C CH,Br

e
H,C - CH
I ;c ",
H.zc = HC

_CD;

“CH, - CH,
Ph __C(CHy),

IIL. M\C =C

HC=c”  TCH,NH,

Iv.

What is the correct E/Z notation for the
configuration of the above compounds 7

(a) Z,E E,Z
ib) E,Z Z, E
c} E,ZE, 2

(d) Z Z,E, E

T8,

9.

( 26 - A |

A dienol, CioH;50, on dehydration followed
by ozonolysis gave methanal, propanone and
2-ketopentanedial. What is the most likely
structure of the dienol 7

(a)
L\CHEDH
CHa CH a
. N
OH
(e)
= CH,0H

(d) HO\;H
N

In the reaction

1. CHsll

exXcess
Q\ 2, Ag,0
P CH, 8. Heat
| 4

> Products,

H

what is the major product ?

(a) f\u\
® 1)

ic) m
@ ML

26
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76. S o M WeS € MSO, & % ® 3 @ #|78.

fern # | oE ve e EEElewEs MOH),
& & 1 NaOH % 3nftreg # faera & | ag M
TR

(a) Mg

(b) Ba

(¢c) Be

@) PrefRe =8 frar = wea wifs A
i #

7. Prefafies et o s $ite -

H,C-CH___CDy
- ~
HyC = HC CH,- CH,
Ph_ _C(CHy,

1. C=C
"~
HC=C™ CH,NH,

e difiet & e & o 9@ E/Z W 7
87

(a}) Z,E,E, Z
() E,Z 2, E
ey EZE1Z
d) Z,Z EE

N-DTQ-K-EJG (27 - A}

tw g, C,H,,0 7 3= sumed
(it & v Feem w e, dEE
iR 2PN R | gEdHe o waiit®
i e w @ 2

(a)
Q’JHEDH
CH; CHg
e
OH
(c)
CH,0H
HO \|
(d)
K
sl
1. CHyl
Q\ 2. ﬁgzol
| CH, 3. 3oy
H
# qo IR A1 7
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80. Consider the following compound : B2. Consider the following in respect of a zero
order reaction :
=)
@ I OH 1.t is directly proportional to the initial
/Ii\ CH, concentration.
Me Me 2. Time taken for the completion of
What is the product obtained on heating the e
above compound ? 3. Concentration of the reactant decreases
linearly with time.
{a) <_¥-— CH,
/N\ Which of the statements given above are
CH; CH, correct 7
fa) 1 and 2 only
Me
(b) & W (b) 1 and 3 only
N
/N (¢) 2 and 3 only
Me Me
{di 1,2and3
< \>
(e) N 83. Consider a reaction
k
gt AT2B4C
kg
’ kg
i @Me B + D —— Products (P)
N If steady-state approximation for the
7\ intermediate B is applied, what will be the
Me Me rate of the reaction, @ 7
dt
81. The same amount of electric current is passed , dip] k k,[A]
through each solution of ferrous sulphate and N dt  k 2lllill + kaibl
silver nitrate. If the amount of silver
::pnsli:: iﬂ 2:7 g, what is the amount of iron ®) dIP) _ klkgl*"‘”ﬂl
posited 7 dt  k,[Cl+ ky[D]
(Ag = 108, Fe =56, S =32)
(@) 140 (@ 4Pl _ kkylAID]
dt kEIC]
(b) 270 g
() 070 g @ APl _ kkglAP
(d) 135¢g & i
N-DTQ-K-EJG (28 - A}
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Frafafes difie w e @ifw -

=)
| @ l OH
/F\ CH,
Me Me

e diffs @ e S W w IR W g
2?2

@w { =cn
N
7\
CH, CH,

(b) <N“‘

AN\
Me Me

(e) '
N

Me

famge o & wam AEn YRw webe @w ReR
TReT ww & faema f vl & I @ ) ol
ST g8 o @ W 2.7 g @, & 5w g de @
wr @ # 7
(Ag = 108,
(a) 140 g

Fe = 56, 5 =132)
(b) 270¢g
(c) 0T0g
(d)y 136g

| 29 - A )

82. = B & ffem & M § Pl w

faaw Aifam
1 ty, WRANS W01 & FIHAEAR S § |

2. sl @ g @ W @ gan wWY §ES
typ B G BT R |

3. fieRe & w=w g & 9 Haew
mear |

Ivges doHE W B T E 2
(a) ®aw 132

(by &am 133

(c) ae 23R 3

() 1,23k 3

v sififisan

k1
A==B+C
2

B+D -ia- I (P)

w far #iswe

oft woEd B ¥ fow wrdamwn wfeea
whm,a‘raﬁhﬁﬂ%m
et ?

@ P ko kglal
dt  k,[C]+ k,[D]

diP] _ Kk k,lAl(D]

(b)
dt  k,[Cl + kD]

diP] _ k,kglAlD]

(e)
dt k,IC]

diP] _ kykglAP

(d}
dt ItQID]
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84. What is the approximate pH value of 0:10 M | 87.
aqueous solution of a monobasic weak acid

(pK, =5)?
() 2
(b) 3
(c) 4

id) &

85. For a reaction of the type nA — Products, a

plot of 1/[A) along y-axis versus time (s)
along x-axis gave a straight line with a 88.
slope equal to 001. [If the initial
concentration of [A] = 1-0 M, then consider
the following statements :

1. The rate constant of the reaction is
1x 1072 M 1670,

2. iy, of the reaction is 100 s.

3. ty,, le. T6% of the reaction will be

Consider the following statements in respect
of lanthanides :

1. The basic strength of hydroxides of
lanthanides increases from I..afﬂH]s to
Lu(OH),.

2. The lanthanide ions Lu®*, Yb%* and
Cet* are diamagnetic.

Which of the statements given above is/are
correct ?

{a) 1 only

{b) 2 only

fc} Both 1 and 2

(d} Neither 1 nor 2

Which one of the following octahedral
complexes of cobalt (III) ion would not show
optical isomerism ?

(a) [ﬂﬂ[ﬁn]a]:”

(b)  [Co(OX),1*

{c) eis-[Colen ) ClyI*
(d)  trans-|Colen),Cl,1*

completed in 300 s. 89. Consider the following complexes :
1, FEECCHE
Which *uf the statements given above are 2. NiCO),
correct ?
V1 wed B ek 3. K,[Fe(CN),]
9 Ameany 4. NaglCu(SCN),)
(b) 1 and 3 only Which of the above complexes obey
(c) 2 and 3 only 18-glectron rule ?
(d) 1,2and3 (a) 1 and 2 only
{b) 2, 3 and 4 only
86. If the dissociation constant of a base MOH is f;} ;I 2,3 ::: B
1 x 10”7, what is the approximate pH value of (d) None of the above
a 0-1 molar aqueous solution of the base 7
90. Which one of the following will react with
(a) 3 n-propylmagnesiumbromide followed by acid
treatment to give butanal ?
(b} & (a) Ethylorthoformate
(b) Formic acid
e (¢) Formaldehyde
(dy 10 (d)  Acetyl chloride
N-DTO-K-EJG { 30 - A )
[ T S

Dream Dare Win 30

Www.jeywin.com




Dream Dare Win

Www.jeywin.com

el & waw § Sraffae st w few
wifswe :

1. e b engieanel @ aRdT wew
La(OH); ¥ Lu(OH), 7% agar # |

2. ®rmE amm, Lo, Yt sk ce*
whcrgrasiy & |

Judfes wet & o wd wd dE 2

(a) &1

(b) ae 2

(e} 13k 22T

(d) Idisiade

freafofEa % & a1 3w = 9 W
HEBODIY FHE WIS FHEaEar T@ aviem ?
(a) [Cofen),**

(b) [ColOX),]*

(c) r:is-[Cﬂ{en}.EClz]*

(d) trans{Colen),CL,]"

PrefRaer Tt o frre e -
1. Fe(CO),

2. NiCO),

3. K,[Fe(CN)]

4, NﬂslﬂuiSCN}_‘]

mﬂﬁﬁaﬂq%wﬁ@ﬁmmm

(a) ®ao 132
(b) w2, 334
(¢ 1,2,33Rk4
(d) Iodes # & #rf =

Frefafem # 9 a5 @1t n e e
¥ sifhfpan, 3w a1 v Iyaw F v am 2

(a) vitrsitaienie
(b) wiffis e

{c) BiEERERE:

(d) e aoimEs

B4, UBHRE gaer 3 (pK, = 5) ¥ 010 M 30T |87,
faera @& wfEwe pH o war & 2
(n) 2
(b) 3
(e) 4
d) 5
85. nA - IR, YHR @ vE IMimea & Be y-ane
R 1/IAP &1, x-38 W W (s) T Fog e
0-01 it areht W ar @ | af wRf W | g
[Al = 10 M &, o Fafofes oo ww fex
#ifswe -
| FfEm e Paas 1x102M el
2. s @ L, 1005
3.y, Jf 75% HFfEar 300 s ¥ ot & s | g
e w4 @ w9 v # '
(a) e 132
(b) ®am 133
(c) wam 233
(d 1,23R3
86. uﬁuas&:ﬁmnﬂaﬁrmmﬁmﬂaﬂxm-?a,
&R & 01 9w g GEma @ wfee pH
TAE# P
fa) 3 240,
(by 6
c) 8
(d) 10
N-DTQ-K-EJG (31 - A)
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91. Consider the following carboxylic acids : 93,
CH,COOH

1.

CH,COOH
. €Y

3. CH,=CHCH,COOH

4. CgH;CH,CHCOOH
CH,

Which of the above carboxylic acids cannot be
synthesized from malonic ester ?

(a} 1 and 2 only
(b} 2 and 3 only
e} 2,3and4

id) None of the above

92. Consider the following ketones :

1 CH, -::lz ~ CH, - C¢H;
4]

2. CHy-C - CH, - CH = CH,
g

8. CHy—C-CH,-OH,-CH,
H

Which of the above ketones' eannol be
synthesized from acetoacetic ester 7

fa) 1 and 2 only
(b} 2 and 3 only
(cj 1 and 3 only

(dl 1,2and 3

N-DTQ-K-EJG [ 32 - A)

L —

Consider the following compounds :

L) Bk EL

Which of the above compounds are aromatic 7

(a) I1and Il only
(b) I, IIT and IV
{e} MI, IV and V
(d) TIT and IV only

Consider the following compounds :

OCOCH, COOCH,
CHj
@% Sty
I II I
NHCOCH,

@ ©/ N(CH,),

Which of the above mmpounds undergo
electrophilic nitration reaction faster than
benzene ?

(a) T and IV only
(b} II and III only
{¢) IV and V only
(d) I IVandV

Dream Dare Win 32
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Frefefian smifaafos sral w far e :
CH,COOH

CH,COOH
. €Y

3. CH,=CHCH,COOH

4. CgHyCH;CHCOOH
CH,

e § | B A S PETRG®S 3, Ao
ol 9 Heolta 7 s siwsar 2 2

(a) thao 1 3k 2
by HET 233

(c) 2 334

(@) v & ¥ B

Frefofas #RF w fer S -

1. CH,- ﬁ ~CH, - CH,
0

2. CH, - C-CH, - CH = CH,
I
0

3. CH,-C - CH, - CH, - CH,

1
0

wge @eH § @l oW, NRedARE o @
Heerter 76 B = wea & 2

(a) Waw 13R2
(b) tham 2 3k 3
(c) ®am 13R3

d) 1,23Rk3

{33 - A

e difirest w fear Hifwe -

O & £
1 11 111
v v

udes it # & # F Wi E 2
(a) ®EWIzRMO
(b) 1II, Il 3R IV

(¢) I IVIRV
(d) & sty

Freferfe difiet = far @i -
OCOCH,

@ @’::‘:imz

CH,
1 1 1

©/ N( CIHH }2

w AY

i dfei § ¥ B ¥ B ¥ @
A IE g Hiufem 2 & 2

(a) &a@ 13RIV
(b) ®aw 11 3k 111
(c) iEd VIRV
(d LIVaRV

COOCH,

NHCOCH,

Dream Dare Win
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95. Consider the following compounds : 897. Which of the following are the characteristics
of chemisorption ?
I.  Benzene

1. High heat of adsorption
. Chlorocbenzene

2. Irreversibility
1. Nitrobenzene

3. Low activation energy

-IV.  Toluene
Select the correct answer using the code
What is the correct order of rate of given below :

mononitration ?
{a) 1 and 2 only
fa) IW>I>MT>1
(b) 1 and 3 only
b) M>H>1I>1V

(¢) 2 and 3 only
(c) M>>IV >1
idi 1,2and 3
dy I=-=IN=1T>11

88  Camsider a phictoshemivnl procoss 98. The rate of an enzyme catalysed reaction is
Sy + hv = g 5:0%10°% Ms™! at a substrate concentration

of 001 M and the maximum rate is

g i& 8, + hv 10 x 107% Ms™!, What is the value of the

Michaelis — Menten constant, K 7

« k
gy S5, + heat
K ta) 001 M
* q
8 +Q —— 5; + Q + heat &) 001 M-
' i tion of 8
The time required for the cl:rncenltra .mn 0 © 002M
to fall to 1/e of its initial value is given by
(d) 002 M1
PO D A
ke +k, + quQI
1 99, What is the product formed on reaction of
(b) = etk 4-nitroaniline with trifluoroperoxyacetic acid 7
F e q
(a) Nitrobenzene
1
[C:I T= —m—m—m———— v
(b} 1.4-dinitrobenzene
kf +k,
(¢} 4-fluoronitrobenzene
&) = 1 id) 14-difluorobenzene
ke + I:q[QI ’
N-DTQ-K-EJG {34 - A}

O e e e e Bt S o S e . i o .
Dream Dare Win 34 Www.jeywin.com




Dream Dare Win Www.jeywin.com

95. FrafoRen difet w fier $ifswe 97. i & Fefafea @ &9 F ofoew &

I 1. e sftreimor Feq

II. FERE 2. SrGBAYIG

III.  =ggraesi 3. 3w whvaor s

V. ek e Re m g @ wim a @ R gfv

&

HRMTSEIER0T & 7Y 1 Wel B w1 7 @) wmaies

(@) IV>1>1I>II (b) #aw 133

(b) M>O>1>1V (c) dam 23k 3

(c) M>>IVl (d 1,23Rk3s

d I-IV=II>1

98. B TwilpH IMRa sfifear @ 2w 5.0 x 1071 Ms!
96. D YEE-UHERNS TN U HUR SR # 5@ & froer e 001 M # aen sftmem
W10 x 107 Ms! & | gl - 32 Reris,

Sy + hvy = 8°
K, & 99 &1 & ?

« Kk
§' —L 58,4+ hv

. k (@) 001 M
5 _L—}‘ E‘ﬂ"‘m .
i Ry . (b) 001 M
8 +Q — 8, +Q+ FmW
(e) 002M
8" 1w finew gos v T A 1/e B9 D (d) 002 M1
fore smavms T fews g B smom 2
fa) T= i X 1
etk +k QL 99. 4-TROREN @ FEEpRWENGRE W &
b) 1= 1 wr sl & @ se wgan #
ke +k +k
{a) Wﬂ
1
€) T=—"
K, + K, (b) 14-BETRGRAAA
i
(e) 4-wEpiRFTEE AT
d = _ 1.. —
ke +k [QI (d)  1,4-BTTRHRIEA
N-DTQ-K-EJG (35 - A )
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100. Tn which one of the following reactions of
aldohexoses, will the product be an
aldopentose 7

hNHNH,  HCl o
Zn/AcOH
-

{a) Aldohexose

Froduct
Bro/ H,O0

1. Ca salt
2. H,0,, Fe*?

(b) Aldohexose

> Product

1. Ba(OH
(e} Aldohexose —Iﬁ —--i:- Y
2. H,;80,

/H
Nalls bt

Bry/ qu X Pyridine _

(d) Aldohexose Y

1. Lactonisation _
2. Reduction :

Product

101. Which one of the following is obtained from
hydrolysis of oils and fats 7

(a) HOCH,CH,OH

(b) CH,OH

(¢) HOCH,CHOHCH,OH
(d) CH,CH,0H

102. Consider the following statements |

1. o-nitrophenol and p-nitrophenol can be
distinguished by their IR spectra.

2.  3-penten-Z-ome and 4-penten-Z-one can
be distinguished by their UV spectra.

3.  1,1-dichloroethane and
1,2-dichloroethane can be distinguished
by their PMR spectra.

Which of the statements given above are

correct 7

{a) 1 and 2 only

ib) 2 and 3 only

fc) 1 and 3 only

(d) 1,2and3

N-DTQ-K-EJG

—

[ 36 - A )

103. An organic ecompound having molecular

formula, C,H O gave following spectral data :
UV — Weak absorption at A 295 nm
IR — v, 1715 em™ (strong)
NMR - & 2-4 (quartet, 2H);
2-09 (singlet, 3H); and
1-04 (triplet, 3H)

What is the compound, C H O 7
(a) CH,CH,CH,CHO

CH

3
(b) > CHCHO
CH,4

() CH,-C-CH,-CH,
I
o

(d) CH, - CH = CH - CH,0H

. Consider the following statements

Synthetic transformation of >C =0 tu>GHz
can be achieved by

1. Clemmensen's reduction.

2. Wolff - Kishner reduction.

Which of the statements given above isfare
correct 7

{a) 1 only

(b} 2 only

(¢} Both1and2

(d) Neither 1 nor 2

. Consider the following statements :

1. Benzene diazonium cation undergoes
ArS), reaction.

2.  Benzene sulphonic acid undergoes ArS,
as well as ﬁrSE reactions.

Which of the statements given above is/are
correct 7

{a) 1 only

(b} 2 only

fc) Both 1 and 2
id) Neither 1 nor 2
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100, tedai @t Prefofaa sfifsandt & @ fow o

¥ Fg o bee B 2
PhNHNH HCl
(a) DeErEEEN Es X > Y
Zn/AcOH
—_—
Br,/ H,0
b) UeRwiw —2 2%
1. Ca #@0 .
2. Hy0,, Fe*?
1. Ba(OH
(el ﬂﬁﬂﬂf‘m HGN: = :'2:
Na/Hg
Br,/ H,O
(@ e 2 2, x  RREM g
1. dewE
I

e
2. AU=ETH

101, Frafefam & 9 29 - ve, a6t ok aomlt &
-3 ¥ W B & 7
(a) HOCH,CH,OH
(b) CH,OH
(¢) HOCH,CHOHCH,OH
(d) CH,CH,0H
102. Fr=fdfee suel w fFar Sife
1L o mgeHE 3R pomgdHT § 9% W
IR ®agH! g fh; N wH E
2. 3UEW-2-909 3R 4-0EH-2-309 F g I
UV ®agd g fsan s wwar & |
3. llzpErReeE 3k 12EEwReds § =
& PMR RagHi g s o s # |
T E A A A TR E P
(a) am 132
by FaT 23R 3
(¢} tpam 133
(d) 1,23k3
N-DTQ-K-EJG

105.

(37 - A)

104.

103, @ FHte difis 3, Bew swgE CHO &,

UV — e srawieor o = 295 nm W
IR—v 1715 em™ (¥aw)

NMR - 3 2-4 (W%, 2H);
2:08 (v5&, 3H); 3R
1-04 (B, 3H)

difires € H 0 war # ?

CH,CH,CH,CHO
CH,

> CHCHO
CH,

(a)

(b)

() CH,-C - CH, - CH,

I
0

(d) CHy - CH = CH — CH,0H

e suel o faar @ifse

> C =0 >CH, % wieafis wurror ae fsar
o1 Hawen &

1. S s g |

2. P - feeeR e g |

I Al A ¥ wl rs wd & e

(a) ®ad1

(b) aEw 2

(¢) 13k 2d=i

(d) Fdr1sade

Fr=fafas T | e e

1 &9F ewEtET derm @ ArS,
siftfesar gt & |

2. 5N RS IE @ AS, § W &
ArSp % f¥fan & @ |

3vden we & B wd 2
(a) &ae 1

(b) ®&aw 2

(c) 13 22

(d) sd@ 13k ad2

Dream Dare Win
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106. Which one of the following sterecisomers is |[108. Proton NMR Spectroseopy can be applied to

given as RS notation for top and bottom chiral detect which of the following ?
centres respectively ?
CH,CI 1. Aromaticity
(@) H—1+—258r 2. H-bonding
a
H ¢ 3. cis and trans isomers
CH,Br 4.  Structural isomers
CH.CI Select the correct answer using the code
E given below :
F—t+—H
(b) H — F (a) 1 and 2 only
CH,CI (b) 2,3 and 4 only
{e} 1,3 and 4 only
CH,CI
Br — H (d) 1,2 3 and 4
(c)
Pr—T—H
CH,Br 109. How many NMR signals would be given by
MeCH,CMe,OH in the presence of a trace of
CH,CI acid 7
1 s W (@ 3
H— Br
CH,CI b) 4
e} &
107. Which one of the following alkenes is of E (d) 6
notation 7
CHy CHCl,
{a) ;C - {}i 110, Consider the following salts ;
H;CH,C p
i Oty 1. NaCl
CH.C H 2. MgB0
(b) HyCHy ~ e Cf 4
CICH,CH;.  CH,CH,CH, 3. AIPO,
What is the correct order of efficiency of the
CHT\_ KCHECHH.CH?GHS above salts (at low concentration) to

(c) coagulate As,S, sol ?

CH,-CH”~  CH,CH,CH,

| al 1>2>3
Oy b) 2>3>1
e S CH,CH, (d) 3>1>2
N-DTQ-K-EJG (38 - A )
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108. Frafofaa fAfem wwmeadt § 3 fwar RS WHaw, [108. w2 NMR Qe o1 Prsfifea § 4 frwa)
wwer 9 sk s SRe &1 & foe, far s wgfoa & & fow wges fsar o0 e @ 2
g7

CHgUi 1. t’ﬁﬂ%m
(a) ii — Br 2. H-amdes
Br 3. e 3R fger swEga
CH,Br ,
4, TROAHE THETT
CH,Cl e few e e @ v a9 I g
F — H
(b} '
H— P (a) am 13k 2
CH,CI (b) A 2,33 4
@aw 1, 3 3R 4
CH,CI (el 3k
B H (@ 1,2 33R4
(c)
Br——— H
CH,Br 109. v wmiEs sne @ swfuf § MeCH,CMe,0H
&1 st NMR widsa Re sndh ?
CH,CI
e (a) 3
(i Br H
H — Br (b) 4
CH,C! (€} 5
107, Ffofas teb=t & ¥ s W os, E W amn d) 6
g7
CH CHCI.
(a) 3:‘:@:{3i ’ 110, Fr=fifea saoi o frar Hw -
HyCH,C
sta CHyRr 1. NaCl
H 2, MgSO
 CHiCHa~ o 850,
CICH,CH;”  CH,CH,CH, % B
IG® AU B As,S, W (R W) ®
i Sl o O CH Ol wfad &0 B zaen B wh B o @ 2
CHy-CH” T CH,CH,CH,
| = (a) 1>2>3
CH
3 b)) 25351
CH,CH, C=C-H () 3>2>1
@ e ¢ el
H™ T CH,CH, @ 8>1>2

N-DTQ-K-EJG {39 - A )
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111. The symmetry group is C, for the|115. A wave funetion w is acceptable when it is

molecule/ion finite, single valued and continuous, Which

(a) H,0 one of the following is an acceptable wave
_ h funection ?

(b) H,0,

ic) 5{)2 fa) w=e*

(d) Nn; (b) wy=ge™

{c) w=snx
112. Hydride which does nof contain H™ ions is

(a) Lithium hydride (@) gputanx

(b) Sodium hydride

(¢) Calcium hydride Directions : The following five (5) items consist
(d) Beryllium hydride of fwo stafements, Statement [ and

Statement II. You are to examine these two

113. Cel, has metallic luster. It is explained by

= A statements carefully and select the answers fo
formulating it as

these items using the code given below :
(a) Ce(llD, 217, e”

b} Ce(Il), 2I” Code :

(e) Ce(IV), 217, 207 £
i {a) Both the statements are individually

(d) None of the above true and Statement II is the correct
explanation of Statement L

114. All oxides of which of the following are (b) Both the statements are individually
white ? true, but Statement 11 is not the correct
1. Al explanation of Statement I,
2,  PhiII) {e) Statement I is true, but Statement 11 is
3 Zn(ID) false.
1 t t 111
4 MadD (d) tStatnment. 1 is false, but Statement II is
rue,

Select the correct answer using the code
given below :

116. Statement ]: The quantum yield of H, - Cl,

W Teat e reaction is 10* — 109,

bl 1,2 and 3

(©) 3 and 4 only Statement II ; Fluorescence is a radiative

emission process,
(dy None of the above

N-DTQ-K-EJG {40 - A )
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111.

112,

113.

114,

1. Al
2. P
Zn(IT)
4. Mn(ID
418 few e g @ mam e wR ghe -
(a) &aw 17w 3
(b)y 1,273
(c) 6ad 3 7T 4
(d) 3Ivges #§ A o T8
N-DTQ-K-EJG

aE syara Fn ¢ s foe ey wE o, # 2

(a) H,0
(b) H,0,
(e) 80,
(d) NO;

;ﬁﬂ?w'ﬁsﬁﬁzﬂ. el H- smaw wofkea =6
>

(a) ferferom wgeEs
(b) whEaw BEEEs
(c) Sfcaan eggzs
(d) aRferaw esgme

Cel, R wiftes o7& &Y & | s9e) aure god
oo o & & o @ 2

(a) CelIIl), 2I7, &=
(b) Ce(Il), 2I"

(c) CelIV), 21", 2e”
@) e § % B

Freafafaa § 9 oz &5 o &, Tood o slieame
WAE ?

116.

{41 - A)

wWww.jeywin.com

115, o T BoF ¢ W gen & of @ ofRfE

Tt Haa & | Pt i e w oo
W & v & 7

{-a} 'i‘j‘ = E:

b) y=e*

(¢l w=sinx

(d) w=tan x

Fdw : FefRes  dfa (5) weieh & @ @ &

dgq I 3Rk &7 10 1 g7 @ dwE @
wrangds e #fEw 3 g7 geet & v
e e mw ge @ werawm @ ghw

E

(a) @ wo wfien @ €, 3R @ I,
FeF 1 &1 H8 WIS ¢ |

(b) aFl ®ow afew @ € fg o@ww I,
wee [ 1 68 W 9@ # |

(c) ou 1w @, fog oo Hamma & |

(d) @ I3 ?, foreg @oe 1w 2

@YTI: H, - Cl, Fufear & wwey afe
10* — 105 & |
@ Il ;. whdfa ve R ses= wen 2

Dream Dare Win 41
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117. Statement I:

Statement IT ;

118. Statement [ :

Staterment IT ;

N-DTQ-K-EJG

In nuclear transformations,

glow neutrons are more
effective projectiles than fast

neutrons.

Unlike

neutrons are not repelled by

fast mneutrons, slow

the nuclear target.

trans-1,2-dimethy] cyclohexane
stable than
cis-1,2-dimethyl cyclohexane.

8 more

In trans-1,2-dimethyl
both

pecupy

cyvclohexane, methyl

groups equatorial

position whereas in
cig-1,2-dimethyl

only one methyl group can

eyclohexane,

occupy an equatorial position.

119. Statement I :

Statement IT :

120. Statement ] :

Statement IT :

(42 - A )

I e e e s

Dream Dare Win

of

increases

The dipole moment
1,2-dichloroethane

with increase in temperature.

The population of the skew
conformation of
1,2-dichloroethane

with increase in temperature.

decreases

Lyophilic colleids are more

stable than lyophobic colloids.

In lyophobic system the

dispersed particles are more
solvated than

in lyophilic

gystem.

42
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N7 ol W sl §ome g, g1,

g ¥ s v i # |

@A @ RH & Gl s =g
GUECICENE. TR T T ST

g

118. @U71:  fager1 2 5ife  weaciads
WHgE-1,2-5TATE  wEaeRad ¥
it wmdt & |

BT sl 2-emafm  wEaeheds §
A Afde e Prefra Refy seofas
wWd & Tafs  waver12-zmifE
WEaEieaE d oo o A W
s FRefo Rl soofie s w@a
2

N-DTQ-K-EJG (43 - A )

120.

2

@ I

T I ;

T IT :

WWW.jeywin.com

1,2-8EeRee &1 Rem smgef am ¥
gfe ¥ adm |

1.2ETGa0iREd & Renadty deor
o wnfte o # ofe & wed & |

T PeigE, iRl S ¥
aftrs wardt @ & |

wafrdt d2 % oRfirg o,z 43
# wRftre avlf ¥ 3fts Regsate
g |
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SPACE FOR ROUGH WORK

ol dM & fore R

[ 44 A
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SPACE FOR ROUGH WORK

e M & e s

{46 - A )
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SPACE FOR ROUGH WOREK
e B & foe sE

N-DTQ-K-EJG ([ 468 - A |
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SPACE FOR ROUGH WORK

o oW & fore smE

N-DTQ-K-EJG {47 - A )
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o @ HND! aF Gav gRaw @ @) 7 ®el ST ad a@ T Gt
A& M. : N-DTQ-K-EJG gleor gRa®r e

e gRae
o= -fas

w9g ¢ a g% gufe : 300

m—— — — —————  ————

FFe

1. qﬂmmz\#tgﬁwm.mmmaﬁumﬁmmmﬁﬁwﬁﬁhm,m
m@mwmmm&qﬁlm&m#.ﬁrﬁwﬁqﬂmmﬂmmi

2. IR-TIE H w W ) gdeen gRem sgm A, B, C T D TRy T w9 § geag S |

3. ﬁuﬂmgﬁﬁﬂmﬁﬂﬁﬁﬁ@ﬁmﬁm@ﬂ
wrpnis foraen & | vl s | sk pE T o |

4. ﬁqﬁmgﬁmﬂﬁlﬂnwﬂm{m}ﬁﬁﬂﬂﬁlmmﬁhﬁaﬁ:ﬁﬂﬁm#Immﬁ
mwa;:;tm;ﬁemﬁ|3ﬂﬁﬂﬁasuaﬁnﬁlqaﬁmmm-mnaﬁammiluﬁ
S ta T B ve ¥ e NegER W & A 36 wegeR @ sifsq @ S e Wl @ | IS
weer & fore daer oo @ wegER YR |

5. mmwﬂmmﬁﬁemm-mﬂﬂj&ﬁm&%:ﬁ-mﬁﬁumﬁiﬂm|

.l w5 o e E

7. mm&muﬂmgﬁaaﬁﬁﬁammtmm-mmﬁaﬁmgﬁﬁ,mm
s ¥ T e SrERE & R P R JR-wEw A A E |

8, 3 A W e @ IR-TE WY & AR au vden $ wEe W) daer FeR-gaw ydes B Y
¥ | o 3 T o ot & S B sk R

9. wa) om > e wm wdaor gRaw & i § e €
10. TR 31 & fore avs -
agfres v # sefear arT Re m e Ie & fre s R s |

(i) mmﬁﬁnmmﬁmﬁlmmﬁwmmﬁmﬁvmwmmﬁﬁm
m%gﬁmﬁmwﬂaﬂmwmtn-salmaamﬁmmu

(ii) uﬁ:aﬁ#ﬁmmm@saﬁmmﬁm%,aﬁﬁmmmm.wﬁﬁwmmﬁﬁﬁw
e w8 B &, e 9 39 v & Be rdereRr & 310 o w1 2vs e s |

(iii) o TefieaR g7 Y we wer T Rar swen &, svefe IefeER g IR @ R S @, & 56 0
¥ fow o ave =t fan smom |

3T a@ P aF 90av JRae @ @ @El e dd ao T @l

Note : English version of the instructions is printed on the front cover of this Boaklet.
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